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Area of Polar Region

Typical AP question:
Which one of these integrals
represents the area?
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88. Let R_hg the region in the first quadrant that is bounded above by the polar curve » = 4cos @ and below by the
Iin‘

as shown in the figure above. What is the area of R ?

(A) 0317 (B) 0.465 (C) 0,929 (D) 2.618 (E) 5.819
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16. Let R be the region in the first quadrant that is bounded by the polar curves r = @ and 8 = k,
—

L3 . . R -
where k is a constant, 0 < k < -, as shown in the figure above. What is the area of R in terms of k ?

3 .3 2 2

®) £ (©) % o £ ® £
3 2 7 2 ans
-

(S

0] -
®D
A
<>

L\—
7S
|
L3

A= [ () (1)) a0



Polar Coordinates.notebook

Y o@ A(Q&
A«Ce_::dt - v: (Ve
L
N (
e
(O
-

91. The figure above shows the graphs of the polar curves r = 2cos(30) and r = 2. What is the sum of the areas of
the shaded regions?

(A) 0.858 (B) 3.142 (C) 8.560 .425 (E) 15.708
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Given 1 =2c0s360 (no calcu 2 on)
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